FiSTYFVD i b & - -~ .
= DRERRE L (HS—2D)

7E - RBNIE
@SUS- R

A4 X BE A4 X BE HA4 X BE Y4 X BE B4 X BE
M2 %3 3B+12-3 M3 %3 3B+13-3 M4 x4 |13B+14-4 [M5x4 |3B+15-4 [M6x6 3B+16-6
M2 x4 3B+12-4 M3 x4 3B+13-4 M4 x5 |3B+14-5 |[M5x5 |3B+15-5 [M6x8 3B+16-8
M2 x5 3B+12-5 M3 x5 3B+13-5 M4 x6 |3B+14-6 [M5x6 |3B+15-6 [M6x10 |3B+16-10
M2 x 6 3B+12-6 M3 %6 3B+13-6 M4 x7 |13B+14-7 [M5x8 [3B+15-8 [|M6x12 [3B+16-12
M2 %8 3B+12-8 M3 x7 3B+13-7 M4 x8 [3B+14-8 ([M5x10 [3B+15-10 [M6x14 |3B+16-14
M2x10 [3B+12-10 M3 x8 3B+13-8 M4x9 [3B+14-9 ([M5x12 [3B+15-12 |M6x15 |3B+16-15
M2x12 |3B+12-12 M3 x9 3B+13-9 M4 x10 [3B+14-10 [M5x14 [3B+15-14 |M6x16 |3B+16-16
M2x15 |3B+12-15 M3x10 |3B+13-10 M4 x12 |3B+14-12 [M5x15 |3B+15-15 [M6x18 |3B+16-18
M2x16 |3B+12-16 M3x12 |3B+13-12 M4 x14 |3B+14-14 [M5x16 |3B+15-16 [M6x20 |3B+16-20
M2x20 [3B+12-20 M3x14 |3B+13-14 [M4x15 |3B+14-15 [M5x18 |3B+15-18 [M6x25 |3B+16-25
M2x25 [3B+12-25 M3x15 [3B+13-15 M4 x16 [3B+14-16 [M5x20 [3B+15-20 [M6x30 |3B+16-30
M2x30 [3B+12-30 M3x16 [3B+13-16 M4 x18 |3B+14-18 [M5Xx22 |3B+15-22 |M6x35 [|3B+16-35
M2.3x8 |3B+12.3-8 |M3x18 |[3B+13-18 M4 x20 |3B+14-20 [M5x25 [3B+15-25 |M6 x40 |3B+16-40
M2.5x4 |3B+12.5-4 |[M3x20 [3B+13-20 M4 x22 |3B+14-22 [M5x30 |3B+15-30 [M6x45 |3B+16-45
M25x5 [|3B+125-5 [M3x22 |3B+13-22 M4 x 25 |3B+14-25 [[M5x35 |3B+15-35 [M6x50 |3B+16-50
M2.5x6 [3B+125-6 [M3x25 |3B+13-25 M4 x28 |3B+14-28 [M5x40 [3B+15-40 [M6x60 |3B+16-60
M2.5x8 |3B+12.5-8 |M3x28 |[3B+13-28 M4 x 30 |3B+14-30 [M5x45 [3B+15-45 |M6x65 |[3B+16-65
M2.5x10 |3B+12.5-10 |M3x30 |[3B+13-30 M4 x 33 |3B+14-33 [M5X50 [3B+15-50 |M8x10 [3B+18-10
M2.5x12 [3B+12.5-12 [M3x32 [3B+13-32 M4 x 35 [3B+14-35 [M5x55 [3B+15-55 |M8X12 |3B+18-12
M2.5x14 |3B+12.5-14 |M3x35 |3B+13-35 M4 x40 |3B+14-40 [M5x70 |3B+15-70 [M8x16 |3B+18-16
M2.5x23 |3B+12.5-23 |[M3x45 |3B+13-45 M4 x 45 |3B+14-45 [M5x 75 |3B+15-75 [M8x20 |3B+18-20

=mI00 JI0roo

M2.6 x3 |3B+12.6-3 |M3x50 [3B+13-50 M4 x50 |3B+14-50 M8 x25 |3B+18-25
M2.6 x4 |3B+12.6-4 |M3.5x6 [3B+13.5-6 [M4x60 |3B+14-60 M8 x30 |3B+18-30
M2.6 x5 |[3B+12.6-5 |M3.5%x10 [3B+13.5-10 [M4x70 |3B+14-70 M8 x35 |3B+18-35
M2.6x6 |3B+12.6-6 M4 x75 |3B+14-75 M8 x40 |3B+18-40
M2.6x8 |3B+12.6-8 M4 x 85 |3B+14-85 M8 x50 |3B+18-50
M2.6 x10 |3B+12.6-10 M8x60 |3B+18-60
M2.6 x12 |3B+12.6-12 M10x30 [3B+110-30
M2.6 x15 |3B+12.6-15 M10 x50 [3B+110-50
OBV TH@® ORT VL ADERDHEIZ?@
FANNPRC /R C Al b2 Al ERICEHBIEERITTSUSZERREICTBHOETT,
HHAAHFRCSAERIV S RATYT RV S BELGEATC. REME. MEE MEAENENTUVET,
ABARZYEV ARy EV T ANMZ Y EYY) . SEEEMNTERATHGE— LB LET
ARSRZYEVT ANAYRRZYEVY,
MARRC. RATY b EE. (FREER &b
etc BT mm
‘1 - XSIYTPYIRFPERKEBICRDBENHDET
BRUALERZSE
BHEFass § 00750000,
TOMITARASHI 0..,LTD. %0337552913

T146-0082 ﬁ:ﬁ%ﬂk&l&i@.ﬂ-m% X< info@tomitarashi.com



ERSIIFYVT S - _ .
' oRsp:EERL (HS5—xRD)

7E - ROWE

@SUS- 245

P4 X BE P4 X BE P4 X BE P4 X BE Y4 X BE Y4 X BE
M2 %3 3B+22-3 M3x3 [3B+23-3 [M4x3 ([3B+24-3 |M5x8 |3B+25-8 |[M6x8 |3B+26-8 [|M8x10 |3B+28-10
M2 x4 3B+22-4 M3 x4 [3B+23-4 [M4x4 [3B+24-4 |M5x10 |3B+25-10 |[M6x10 |3B+26-10 |M8x12 |[3B+28-12
M2 x5 3B+22-5 M3 x5 [3B+23-5 [M4x5 [3B+24-5 |[M5x12 |3B+25-12 [M6x12 |3B+26-12 |M8x15 |3B+28-15
M2 x 6 3B+22-6 M3x6 |3B+23-6 [M4x6 [3B+24-6 [M5Xx14 [3B+25-14 [M6x14 [3B+26-14 [M8x18 |3B+28-18
M2 x 8 3B+22-8 M3x7 |3B+23-7 [M4x7 [3B+24-7 [M5x15 [3B+25-15 [M6x15 [3B+26-15 [M8x20 |3B+28-20
M2x10 |3B+22-10 M3x8 |3B+23-8 [M4x8 |3B+24-8 |Mb5x16 |3B+25-16 [[M6x16 |3B+26-16 [M8x25 |3B+28-25
M2x12 [3B+22-12 M3x9 [3B+23-9 [M4x9 ([3B+24-9 |M5x18 |3B+25-18 |M6x18 |3B+26-18 |[M8x30 |3B+28-30
M2x15 [3B+22-15 M3 x10 [3B+23-10 [M4x10 [3B+24-10 |[M5x20 |3B+25-20 |[M6x20 |3B+26-20 |M8x35 |[3B+28-35
M2x16 [3B+22-16 M3 x12 |3B+23-12 [M4x12 [3B+24-12 |M5X22 [3B+25-22 [M6x25 [3B+26-25 [M8x40 |3B+28-40
M2x20 [3B+22-20 M3 x14 |3B+23-14 [M4x14 [3B+24-14 |[M5x25 [3B+25-25 [M6x30 [3B+26-30 [M8x45 |3B+28-45
M2x25 |3B+22-25 M3 x15 |3B+23-15 [M4x15 [3B+24-15 [M5x30 [3B+25-30 [M6x35 [3B+26-35 [M8Xx55 |3B+28-55
M25x3 [3B+22.5-3 [M3x16 |3B+23-16 [M4x16 |3B+24-16 [M5x35 [3B+25-35 [M6x40 [3B+26-40 [M8x70 |3B+28-70
M2.5x4 |3B+22.5-4 [M3x18 [3B+23-18 [M4x18 [3B+24-18 |M5x40 |3B+25-40 |M6x45 |3B+26-45 |M10x25 |3B+210-25
M2.5x5 |3B+22.5-5 [M3x20 [3B+23-20 [M4x20 [3B+24-20 |M5x45 |3B+25-45 |M6x50 |3B+26-50 |M10x30 |3B+210-30
M2.5x6 [3B+22.5-6 [M3x22 |3B+23-22 [M4x22 [3B+24-22 [M5x50 [3B+25-50 [[M6x55 [3B+26-55 |M10x35 [3B+210-35
M25x8 |3B+22.5-8 [M3x25 |3B+23-25 |M4x25 |3B+24-25 |M5x55 |3B+25-55 [M6x60 [3B+26-60 [M10x40 |3B+210-40
M2.5x10 [3B+22.5-10 (M3 x28 [3B+23-28 [M4x28 [3B+24-28 [M5x60 |3B+25-60 |M6x65 |3B+26-65 |M10x45 [3B+210-45
M2.5x12 [3B+22.5-12 |M3x 30 |3B+23-30 [M4x30 [3B+24-30 M6 x70 |3B+26-70
M2.6 x4 |3B+22.6-4 [M3x35 [3B+23-35 (M4 x35 [3B+24-35 M6 x 80 |3B+26-80
M2.6 x5 |3B+22.6-5 [M3 x40 [3B+23-40 (M4 x40 [3B+24-40
M2.6x6 [3B+22.6-6 [M3x65 |3B+23-65 [M4x45 [3B+24-45

=mIO0” DOroo

M2.6x8 [3B+22.6-8 M4 x50 |3B+24-50
M2.6 x10 |3B+22.6-10 M4 x 55 |3B+24-55
M2.6x12 |3B+22.6-12 M4 x 65 [3B+24-65
M2.6 x30 [3B+22.6-30 M4 x80 [3B+24-80

M2.6 x40 [3B+22.6-40

NAaFryh1E 7y ¥y —=JIS ATV T Tyorv—25
YA X BE YA X BE YA X BE YA X BE
M2 3B3312 2X6X0.4 |3B012 12X26X2.3 |3B0112 [M6 3B2226
M2.5 3B3312.5 2.3X7X0.5 |3B012.3 | 15X30X2.0 |3B0114 M8 3B2228
M2.6 3B3312.6 2.6X7.5X0.5|3B012.6 | 17X32X2.5 [3B0116 [M10 3B22210
M3 3B3313 3X8X0.5 ([3B013 19X36X2.5 |3B0118 [M12 3B22212
M3.5 3B3313.5 3.5X9X0.5 |3B013.5 | 21X40X3.0 (3B0120 [M14 3B22214
M4 3B3314 4X10X0.8 |3B014 23.5X44X3.0 |13B0122 |M16 3B22216
M4.5 3B3314.5 5X12X0.8 |3B015 25.5X48X3.0 |3B0124 [M20 3B22220
Mb 3B3315 6X13X1.0 |3B016 28.5X52X3.0 |3B0127
M6 3B3316 8X18X1.6 |3B018 31.5X58X4.0 [3B0130
M8 3B3318 10X22X1.6 |3B0110
M10 3B33110
M12 3B33112
M14 3B33114
M16 3B33116
M18 3B33118
M20 3B33120
M24 3B33124




ERSIYFYVT et & - _ .
' oEsp:EERNL (HS5—RD)

7E - ROUE

®sus- B2 @

(+) A=A

AR BE B4R BE Y4 X BE HAL4 R BE A4 X BE
M2 x 6 3B+1A2-6 M3 x6 3B+1A3-6 M4 x 8 3B+1A4-8 M5x10 [3B+1A5-10 [M6x16 [3B+1A6-16
M2 x8 3B+1A2-8 M3 x 8 3B+1A3-8 M4x10 [3B+1A4-10 Mb5x12 [3B+1Ab-12 [M6x25 |3B+1A6-25
M2x10 [3B+1A2-10 M3x10 [3B+1A3-10 M4x12 [3B+1A4-12 Mb5x15 [3B+1A5-15 [M6x30 |3B+1A6-30
M2x14 |3B+1A2-14 M3x12 |3B+1A3-12 M4 x13 |3B+1A4-13 M5x16 [3B+1A5-16 [M6x50 |3B+1A6-50
M2.3x10 [3B+1A2.3-10 [M3x14 |3B+1A3-14 M4 x14 |3B+1A4-14 M5x20 [3B+1A5-20 [M6x90 |3B+1A6-90
M2.3x12 [3B+1A2.3-12 [M3x15 |3B+1A3-15 M4 x16 |3B+1A4-16 M5 x25 [3B+1A5-25
M2.6x8 [3B+1A2.6-8 [M3x16 |3B+1A3-16 M4 x20 [3B+1A4-20 M5 x30 [3B+1A5-30
M2.6x12 [3B+1A2.6-12 |[M3x18 |3B+1A3-18 M4 x25 [3B+1A4-25 M5 x 35 [3B+1A5-35
M3x20 [3B+1A3-20 M4 x30 |3B+1A4-30 M5 x40 |3B+1A5-40
M3x25 |3B+1A3-25 M4 x35 |3B+1A4-35 M5 x 45 |3B+1A5-45
M3x30 |3B+1A3-30 M4 x40 [3B+1A4-40 Mb5 x50 [3B+1Ab-50
M3 x50 |3B+1A3-50 M4 x45  [3B+1A4-45 Mb x 55 [3B+1Ab-55
M3.5x6 |3B+1A3.5-6 |M4x50 |3B+1A4-50 Mb5x 60 [3B+1A5-60
M3.5x16 |3B+1A3.5-16 [M4x60 |3B+1A4-60 M5 x 65 |3B+1A5-65
M3.5x20 [3B+1A3.5-20 (M4 x70 [3B+1A4-70 M5 x70 [3B+1A5-70
M3.5x35 [3B+1A3.5-35 [M4x75 [3B+1A4-75 Mbx 75 [3B+1Ab-75
M3.5x40 [3B+1A3.5-40 [|[M4.5x12 [3B+1A4.5-12
M4.5x25 |3B+1A4.5-25

YA X BE YA X BE Y4 X BE YA X BE A4 X BE
M2.6x10 |3B+2A2.6-10 |M3.5x10 |3B+2A3.5-10 [M4x8 [3B+2A4-8 [M4.5x14 (3B+2A4.5-14 |[Mb6x16 |3B+2A06-16
M3 X6 3B+2A3-6 M3.5x12 [3B+2A3.5-12 [M4x10 |3B+2A4-10 [|M4.5x16 |3B+2A4.5-16 |M6x20 [3B+2A6-20
M3 %8 3B+2A3-8 M3.5x16 [3B+2A3.5-16 [M4x12 |3B+2A4-12 |[M4.5x20 |3B+2A4.5-20 |M6x25 [3B+2A6-25
M3x10 [3B+2A3-10 M3.5x20 [3B+2A3.5-20 [M4x13 |3B+2A4-13 [|M4.5x45 |3B+2A4.5-45 |M6x30 [3B+2A6-30
M3x12 [3B+2A3-12 M3.5x22 [3B+2A3.5-22 [[M4x14 |3B+2A4-14 |M5x10 |3B+2A5-10 M6 x 35 |3B+2A6-35
M3x15 |3B+2A3-15 M3.5x25 |3B+2A3.5-25 |M4x16 |3B+2A4-16 |M5x16 |3B+2A5-16 M6 x 45 |3B+2A6-45
M3x16 [3B+2A3-16 M3.5x30 [3B+2A3.5-30 |M4x20 |3B+2A4-20 |M5x20 |3B+2A5-20 M6 x50 |3B+2A6-50
M3x18 [3B+2A3-18 M3.5x35 [3B+2A3.5-35 [[M4x25 |3B+2A4-25 [|[Mbx25 |3B+2A5-25 M6 %55 |3B+2A6-55
M3x20 [3B+2A3-20 M3.5x40 [3B+2A3.5-40 [[M4 x28 |3B+2A4-28 [|[M5x30 |3B+2A5-30 M6 x90 |3B+2A6-90
M3x25 [3B+2A3-25 M3.5x45 [3B+2A3.5-45 [M4x30 |3B+2A4-30 [|[M5x35 |3B+2A5-35 M8 x20 |3B+2A8-20
M3x30 |3B+2A3-30 M3.5x50 |3B+2A3.5-50 [M4x35 |3B+2A4-35 [M5x40 |3B+2A5-40 M8 x50 |3B+2A8-50

=mIu00 JI0roo

M3 x40 [3B+2A3-40 M4 x40 |3B+2A4-40 |Mbx45 |3B+2Ab-45 M8 x 60 |3B+2A8-60
M3 x45  [3B+2A3-45 M4 x 45 |3B+2A4-45 [M5x50 |3B+2A5-50
M3 x50 [3B+2A3-50 M4 x50 |3B+2A4-50 [M5x70 |3B+2A5-70

M4 x55 |3B+2A4-55 [[Mbx75 |3B+2A5-75
M4 x60 |3B+2A4-60 [M5x90 |3B+2A5-90
M4 x 65 |3B+2A4-65
M4 x70 |3B+2A4-70
M4 x 85 |3B+2A4-85
M4 %90 [3B+2A4-90

-3-



